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Topic:- General Knowledge

1) Who was conferred the title of 'Father of the Lok Sabha' by Jawaharlal Nehru? /
SIATEYATd A8 gRT ‘AP JHT & S 1 IUTY fFd ygH 1 718 i

1. Ganesh Vasudev Mavalankar / TTUIS] dl{i&d HISABR

2. Mahatma Gandhi / HelHT et
3. Hukum Singh / §%H g

4. Jawaharlal Nehru / STATgRcTd 189

Correct Answer :-

« Ganesh Vasudev Mavalankar / TTOIRT dRRJGd HTIThR

2) Who among the following Industrialists won the Bharat Ratna in 1992? /

1992 § fAfafed d | f5a Sevmufa A YRd e siarn
1. JR.D. Tata/ SI.3{R.S1.€TCT

2. Dirubhai Ambani / §TSHTE 3fa

3. Rahul Bajaj / XIgq TSl

4. Azim Premji/ 3T il

Correct Answer :-

o IR.D. Tata/S.3R.Sl.2TeT




3) ‘Rose of God’ was a classic poem written by: /

TN TP TS’ TP IP P Hiaar A, 5t 37 gR1 ford! 7s:
1. Rabindranath Tagore / Ty SR

2. Kamala Suraiyya / o Hcll JX&T

3. Sri Aurobindo / 4T 3TRIf&al

4. Sarojini Naidu / SRS A1Ig

Correct Answer :-

e Sri Aurobindo / %ﬁ ailzllaal

4) A six lane expressway is announced in the Madhya Pradesh budget for the year 2018-

19 between which of the following cities? /

9 2018-19 S A YSI & doic A AT I AP IgRi d T s a1 &
THIIA B T BT T2

1. Bhopal and Jaipur / HiuTel Ud oIgyx
2. Bhopal and Delhi / H1UTef T4 feeett

3. Bhopal and Indore / T ud s‘cﬁT

4. Bhopal and Mumbai / Hard Td @é

Correct Answer :-

 Bhopal and Indore / T Qa s.éR

5) Where is the Atal Bihari Vajpayee Indian Institute of Information Technology and
Management located in Madhya Pradesh? /

gwmﬁmﬁgﬁm@tﬂuﬂ?ﬂumﬁﬁﬁﬁaﬂqﬁuﬁwww@m
1. Bhopal/'l-n'CI'IF‘[

2. Indore / sﬁ?



3. Jabalpur / SIdclYR
4. Gwalior / TTTCRIR

Correct Answer :-

« Gwalior / TTfCIOR

6) Tawang Monastery, the largest monastery in India, is located in .
HRd § HaY 91 7S, 91T 76 # @z

1. Arunachal Pradesh / 3SUIIS UGl

2. Sikkim / RifepH

3. Ladakh / dglRd

4. Manipur / HIOTQR

Correct Answer :-

« Arunachal Pradesh / 3/UMEd YT

7) Which mineral reserves are largely found in Balaghat and Chhindwara districts? /
gremaTe SR fbgarst fort # 19 a1 @i el YSR U w4 | 9T 1dl 572

1. Dolomite/@?ﬁ'ﬁl’lﬂ?
2. Coal / BT
3. Manganese/'a."'ltﬂ\_ﬂ

4. Bauxite / ETHHIEE

Correct Answer :-

e Manganese / S

8) Which Indian became the world’s second youngest Chess Grandmaster at just 12
years, 10 months and 13 days of age in June 2018. /



DI AT URAH, S 2018 H 12 94, 10 TEH 3R 13 fd7 &Y oy # faza &1 R wad
BIeT A TSRS §H1?

1. R. Praggnanandhaa / 3R, UG

2. Koneru Humpy / BIRe gHit

3. Viswanathan Anand / [T 3iHg

4. Ramachandran Ramesh / JHAGH Y

Correct Answer :-

« R. Praggnanandhaa / 3/R. UFig

9) The iconic ‘Malgudi Days’ was a novel written by: /
Uaf3d SU=ATH HIeNIST So' §7eb GIRT fera T or:
1. Vikram Seth / f[dsh® 93

2. R.K. Lakshman / 3{R.&. A&

3. R.K. Narayan / 3R, TR

4. Anita Desai / &rﬁmé?n‘s‘

Correct Answer :-

e R.K. Narayan / 3R &, AR™0

10) The palace built in the form of Krishna’s crown in Jaipur with 953 outer-wall

windows is: /

AR § W F ara & ¥ § FAfifa gga, S 953 a5 Sl areht fesfeal wfea
T AT g, a8 A 8

1. Amer Fort / 3TER fobam

2. Hawa Mabhal / gdl Hed
. City Palace / Ry} ooy
. Kumbhalgarh Fort / $THeTG Tl

w

N

Correct Answer :-



e Hawa Mahal / edl Hed

11) Who among the following is a Governor of a state and is also a former Chief

Minister? /

fFrafafaa # S #19 te 39 & ITsaura iR gd gt oft 30
1. Anandiben Patel / 3THcia- ged

2. Uma Bharti / 3T YRdll

3. Digvijaya Singh / fefiaera Rig

4. Kiran Bedi / fb_01 9cl

Correct Answer :-

« Anandiben Patel / 3Fcla Ucd

12) The only Jama Masjid in India without Minars is found in which of the following

states? /
YRd § fo11 fFRY areft woam oo afee Fafafea i a fea w=a d @2
1. Madhya Pradesh / FEOUCEI

2. Uttar Pradesh / 3TR U

3. Tamil Nadu / ?‘lﬁl?'l:l'l_g'
4. Karnataka / W

Correct Answer :-

e Madhya Pradesh / TV

13) Which of the following National parks is not located in Madhya Pradesh? /
Frafafea & @ 1= w1 wgia Sae 9w uew § fRa T8 82

1. Madhav National Park / HTYd T@’q 3l

2. Pench National Park / Ud T@’q 3

3. Satpura National Park / Jd4ST T@’q REIE



4. Manas National Park / HTTH Tl'g'm 3

Correct Answer :-

e Manas National Park / HI-Y QTgTq REIG!

14) Indore Airport is named after .
SCERFASITHAM & A1 W I T2
1. Devi Ahilyabai Holkar / d! 3ifgcTaTs Bledh

2. Chennamma / JHT

3. Chand Bibi / 9TG Sl

4. Manikarnika / HTOTGfOfeT

Correct Answer :-

« Devi Ahilyabai Holkar / &d! 3fgeaTaTs Bledh

15) Who is the Director of Mahatma Gandhi State Institute of Rural Development and
Panchayati Raj in Madhya Pradesh? /

e YT H HETHT i I Ireftor iy SR SR YA I & fFeRe o
&

1. Ashwini Kumar Roy / 3% PHR 0T

2. Rajesh Rajoura / ST SR

3. Sanjay Kumar Saraf / ol PHR AIH

4. Shiv Narayan Mishra / R1a TRTI07 {8

Correct Answer :-

« Sanjay Kumar Saraf / ol PHR I

16) Chanderi town is mentioned in Mahabharata .Who among the following was the
King of Chanderi during the Mahabharata period? /



HETHRT H T3t 8”1 W fHar a1 81 HeTHRY &1d & SR FEfafaa i d
P TS BT AT UT?

1. Ravana /14Ul

2. Kans /H9

3. Arjun/ &IG\IT-[

4. Shishupal / RIS

Correct Answer :-

e Shishupal / ﬁl’-‘{[cl'lﬁ

Topic:- General Hindi

1) HUST - F fore Tt vataar ara w<gl &1 vfea &t gfAw|
1. UC, a1, 3R

2. U, 99, IR

3. T, 99, IR

4. O¢, I, IR

Correct Answer :-

e T, 994, IR

2) 3feR TR BT IATAT - eTaR BT a1 YT g e A A HT a1 82
1. XToNd a1 AR TS P U A TERI ¢ |

2. XSG Al TR UTS BT ST I 5

3. Told al TR TS T GIRT JeT ] |

4. ITof1a Y TR UTS BT ST SeT 2

Correct Answer :-

o IS1T A TR HIS BT SHald ST 7




3) TwH- ¥ forg wdt wfy fade 1 gfw)
1. Hc+oisiq

2. G+

3. G+

4. QA+

Correct Answer :-

o Hd+old

4) RTTRT - FT G €U A A ST A2
1. GRIATRT

2. AR

3. gRa”T

4. gaMR

Correct Answer :-

o QXA

5) gIfe - & fore Wt Wity fasde #) g
1. SA+3MTfe

2. Sfa+anfe

3. 33

4. 3+

Correct Answer :-

» gfarenfe

6) TR UR U1 3T - HeTar &1 3 g faere A A pa A e



. JHAM Tl PIg B HAT
. 95 U gl

3. IBW JHS o]

[y

N

4. 7 Aebe ST

Correct Answer :-

o JHIM a1 BI5 B BIAT

7) 3T - I A T Oeg U A A D AT B2
1. 3R]

2. 3

3. {TEROT

4, 3HIU]

Correct Answer :-

o SIARUT

8) g% ¢l oRfa< A R g5, FA W @1 - A FH § J B9 A1 SR 72
1. SUHT 3TADR

2. SN PR

3. EPId 3APR

4. IG IABR

Correct Answer :-

o JUAT 3ADR

9) forT IuwT & IR ST SUfRA A &, aefard 8 -
1. I

2. FwgH



3. QUi
4. STHA DI 5l

Correct Answer :-

. quITHT

10) U ® 9 T A $IF 919U 32
1. e oar

2. T dYX=Y HHIY

3. §g 99

4. S{TIIHTT JHTY

Correct Answer :-

. T AGEY THY

1) REAdGE A PR @ I Fadasaars
1. 3FTATCY

2. 3rfay

3. 3Rifdy

4. 3R

Correct Answer :-

. 3Ty

12) gAY ¥ 19 & | S 91 99N 2
1. HUYRY AN

2. -9 qAN

3. AN ™

4. 3fOIYTT THN



Correct Answer :-

« FHYRY JHY

13) <P IUFT A T e FE A A BT A R?
1. 3T

2. 3R

3. 3UT-YTd!

4, HUDPR

Correct Answer :-

o SYDPRR

14) 4 Big 1 WG BT Bl |

¢@d a9 A1 fafes oife, g At w wRu- A A Sl e
1. 3gHd ¥d

2. T

3. IR

4, YOS T

Correct Answer :-

. AT

Topic:- General English

1) Choose the most suitable determiner for the given sentence:

You can catch bus from this station to reach your destination, as all buses from

here pass through your hometown.
1. little

2. each



3. either

4. any

Correct Answer :-

e any

2) Choose appropriate articles for the given sentence:

Can you switch on light, please? Sun has set and it’s dark inside

1. the, The, a

2. the, A, a

3. the, The, the

4. a, The, a
Correct Answer :-

o the, The, the

room.

3) Spot the error in the given sentence:

Have everybody returned after playing football?
1. football?

2. Have everybody

3. after playing

4. returned

Correct Answer :-

e Have everybody

4) Choose the correct adverbial clause for the given sentence:

, he was making sandwiches.

1. Although we had arrive



2. In spite of arriving
3. When we arrived
4. As we arriving

Correct Answer :-

e When we arrived

5) Choose the appropriate prepositions for the given sentence:

chasing a bird, the cat jumped the window and landed

outside.

1. While, through, on
2. On, from, in

3. During, at, on

4. At, along, in
Correct Answer :-

o While, through, on

the soft grass

6) Choose the appropriate verb to complete the given sentence:
Canyou ___ me the way to the bus stop, please?

1. show

2. showing

3. showed

4. shown

Correct Answer :-

e show

7) Choose appropriate conjunctions for the given sentence:



Dad would finish having his soup the rest of his family, he liked to have it hot.

1. whether, for

2. while, so

3. before, after

4. before, because

Correct Answer :-

e before, because

8) Choose the option that is appropriate to fill in the blanks in the given sentence:

Teachers have to generally their students so that they well in their studies.

1. motivating, performing
2. motivate, perform

3. motivation, performance
4. motivated, performed

Correct Answer :-

e motivate, perform

9) Choose the option that best transforms the sentence into its other voice:
This house is cleaned everyday by the cleaning woman.

1. Every day, this house is cleaned.

2. The house is being cleaned by the cleaning woman.

3. The cleaning woman is clean the house everyday.

4. The cleaning woman cleans this house every day.

Correct Answer :-

e The cleaning woman cleans this house every day.




10) Choose the option that best transforms the sentence into its other voice:
The candidate has written all the answers correctly.

1. Answers are written correctly by the candidate.

2. All the answers were being written correctly by the candidate.

3. All the answers have been written correctly by the candidate.

4. All the answers are being written correctly by the candidate.

Correct Answer :-

 All the answers have been written correctly by the candidate.

11) Choose the option that correctly spells the words to be filled in the given sentence:
The of the school said that the boy behaved like an .

1. principle, angle

2. principal, angel

3. principal, engle

4. principel, angle

Correct Answer :-

» principal, angel

12) Choose the correct form of tense for the given sentence:
In ancient times, hostages _ as security on a treaty.

1. were taken

2. had taken

3. was being taking

4. are taken

Correct Answer :-



e were taken

13) Choose the option that is closest in meaning to the highlighted word in the given

sentence:

Naina gets very angry over trivial matters and is unable to control her temper.
1. immense

2. huge

3. crucial

4. small

Correct Answer :-

e small

14) Choose the option that best fills in the sentence:
Of the three brothers, Ram is

1. oldest

2. the eldest

3. the older

4. eldest

Correct Answer :-

e the eldest

Topic:- General Mathematics

1)
In AABC and APQR., if AB=AC, #C=¢P and #B = £Q, then the respective two triangles are:/
AABC UG APQR #, 3§ AB=AC,2C=,P AWM 2B=2,Q §I dF a=i Hea el

1. Isosceles and congruent / ﬂ'ﬁl‘%@ﬂ@ GRIRSCIRRE|



2. Isosceles but not congruent / T—lﬂ%@’[@' dfe gatmaH T8l
3. Congruent but not isosceles / iy dfe QTJ:I'@_Q'IE T8l
4. Neither isosceles nor congruent / I ol ﬂﬂﬁiﬂg 1 8 gafmem

Correct Answer :-

« Isosceles but not congruent / T—lﬂ%@’[@' Afp gafmay T8l

2) A letter is chosen at random from the letters of the word '"TRANSISTOR'. The
probability that the letter chosen is a consonant is: /

e 'TRANSISTOR' & 3M&RI § TP 3&R refasddl § gai-id foear 7| Zafd
&R TP o g, TUB! UTRHdT 8

3

.2
Correct Answer :-

7

o 10

3) If a solid cube of side 14 cm is cut into 8 cubes of equal volume, then the surface area

of the new cube is: /

e 14 AH fFIR I TP 31 99 B FHE AT a1 8 T & BT STd1 8, 99 ¢
U 3T Y819 &5 d B

. 294 cm? [/ 294 I
5> 302em? / 302 ¥

3 186 cm? / 186 ¥&°



4 252cm? [ 252 Y

Correct Answer :-

. 294 cm? / 294 TH’

4) What will be the unit’s digit in square of 589762 /
58976 % I W SPT BT 3P FT gRI?

1. 4

2.2

3.3

4. 6

Correct Answer :-

6

5) The distance between the parallel linesy—-8=0andy+1=0is ./

AR Y@y -8 =0Ty +1=0F T DI g B

Correct Answer :-

9

6) A cone, a hemisphere and a cylinder stand on equal bases and have the same height.

The respective ratio of their volumes is: /

TS P, TP Ml U9 Uh Sa, THHAT 3MYUR W R & Td 37! Hurs 0
U 81 3919 Tad-] o7 3T 3:



1. 1:2:1

2.1:2:3

3.2:3:4

4. 3:2:1

Correct Answer :-

e 1:2:3

7) A factorof p(x) = 7x? — 4v2x— 6is: [
p(x) = 7x* — 4/2x — 6 &1 T IS §:

x++/2
x++/3
4x + 3\."5
X+ 3\.&

Correct Answer :-

,7x+ 342

8)
AABC is inscribed in a circle with center O and if #BAC = 2x and #BCO = 2v_ then which of the

following relation is COREECT? /
&g O arel ud ged # AABC 3iaded fmam o 3 afg «BAC = 2x vd «BCO = 2y &, o
AraAfefad & & Sl @ g T8 87

1, X+ty=45°
x—v=45"°
x+y=90°

4, Xy =90°

Correct Answer :-



11 —-13
9 On multiplving = with additive inverse of P get: /

iﬁ_—lgﬁﬁmﬂﬁﬂmﬁﬁmwmﬁrwaﬁwmm%

14
132
1 173
—216
2. 525
143
3. 280
—190
4. 153
Correct Answer :-
143
s 280
10) The complement angle of the supplement angle of 150%is . /
150° aTel HYXh HIOT T Weh 0T el
1. 10°
2. 90°
3. 60°
4 30°
Correct Answer :-
. 60°

11)



ABCD and AEFG are two parallelograms. If #C = 58°, then 2£ZF =/
ABCD @I AEFG T §AHIGR adaa ol afg 2C=58. a9 .F=__ ¢l

Correct Answer :-

. 38°

12) If 2a - 3b =23, then the value of 8a° —27b* — 90abis ./
Ife2a—3b=5 dd 8a’ — 270} —90abHFT A _ ¢l

1. 25
2. 100
3. 225

4. 125

Correct Answer :-

e 125

13) Jux 4nx gl-n=o



4, A

Correct Answer :-

o0

14) Simplify: X:}’: - 3\." (xy )2 . where X and V are positive real numbers. /
x2y? =+ I/ (xy)? &1 WA H, 6! X dATY UellcH S aredidad Gt gl

L xy
NIEE
. G
. G

Topic:- General Logical Ability

1) Dipais seven years older than Shikha. Fifteen years ago, Shika’s age was three quarters
of Dipa’s age. Find the present age of Dipa. /

Stur, RRaT @ 91d 919 99 8 1 UgE ITd ugd, FRrar &t 39 Sur B 39 B i1 iurg
8| Hur Y adu= 37 TaET]

1. 36years/36 ¥

. 42 years /42 ¥

N

. 43 years /43 ¥

w

. 41 years /41 ¥

N

Correct Answer :-

e 43 years /43 GL




2) 60% of the populations of a town are males. If the total population of the town is
76000, then find the population of females in the town. /

TS T DI AT H 60% TY & | TS U B ot a1t 76000 3, Y e |
Hfgara &t ardt aarsgl

1. 30200
2. 30600
3. 30000
4. 30400

Correct Answer :-

e 30400

3) Find the length of a bridge, which a train 120 meter long and travelling at 54 km/hr

can cross in 20 seconds. /

I I Dt AHETS [T D+ ford 120 Hiex Tw verms!, 54 forwdi/der ot ara 9 gad gu
20 P A IR FR A B

170 m/ 170 Hiex
190 m / 190 HIeR
180 m / 180 HICR
160 m / 160 Hlex

[y

N

w

>

Correct Answer :-

. 180 m/ 180 HIcR

4) By selling a horse for Rs. 670, a tradesman would lose 5%. At what price must he sell
it to gain 5%? /

670 TUT H TP UIS I IS ATIRI &1 5 Ufa=rd B 14 it | 5 ufe=rd &1 anry
T 31 & oI 39 OIS &l fha+ g™ R S=-1 8112

1. Rs. 737.40/737.40 24U



2. Rs. 740.52/740.52 %4l
3. Rs. 738.52/738.52 %4l
4. Rs. 736.40 / 736.40 24U

Correct Answer :-

e Rs. 740.52/740.52 49U

5) In how many different ways can the letters of the word ‘GAMBLE’ be arranged? /
fra fafi=T a8i®! A =1 «GAMBLE’ ¥ 31&RT &1 uafeud farar o a@ar 82

1. 720

2. 710

3. 730

4. 740

Correct Answer :-

e 720

6) Study the following information carefully and answer the question given below.

Eight persons L, M, N, P, Q, R, S, and T are sitting around a circular table facing the
centre. Q is not the neighbour of P or R. M is second to the left of T and third to the
right of P. R is third to the left of N, who is to the immediate left of T. L is second to the

right of P.
Which of the following is definitely true? /
92 & 7€ weT B eagde g R U Y U $T I |

TS EH; L, M, N, P, Q, R, S, R T TH TETHR A & TRT 3R TP gax 31 3R
e PP IS UL Q, PATR PIUSIA A 81 M, T & 91T 3R g & 3R P & 3¢
IRTTRIBIR,NF AW IR TARIE, AN B T1F StHa@ g1 L, pF W gERT &

frfafea & @ o9 arafds 9a 82
1. Q is to the immediate right of S./ Q, S %Wam Gﬁ?%l
2. MisbetweenNandQ./M,N\ﬁ?Q%@ﬂaﬁ%l



3. R is to the immediate right of P. /R, Paamm GhT%I
4. R is between P and s./R,Psﬁ?séaa%rﬁ%l

Correct Answer :-

R is to the immediate right of P. /R, P & BIb and 3R %I

7) What must be added to each term of the ratio 5:11, so as to make it equal to 3:4? /

SUTd 5:11 & UAP UG § a1 SisT ST TSy, a1fds 3/ 3:4 & SRTER T oI
Tqb?

Correct Answer :-

e 13

8) A dice is thrown. What is the probability of getting a number greater than 2? /
TP Ui &) HopT SraT 2 1 2 F 3ifres H:m ured e &1 Ut dr om 82

3
1

N
Lad | =

[P

[N S

Correct Answer :-

(IS I



9) Rs. 1500 is invested in two parts such that if one part is invested at 6% and the other
at 5%, the total interest in one year from both investments is Rs. 85. How much is

invested at 5%? /

1500 $UE &1 &1 foa) # 9 yopR fAawr forar wimar 8 f vep few, 6% W= fHawr
T ST 8 SR TTt &1 5% WR A= forar smar €, g o= 3 ue 9 o g 85
TUT T TS YT BT 8| 5% UR fopar war fAawr fraam g2

1. Rs.450/45024d
2. Rs. 550/ 550 %UU
3. Rs. 500/ 500 ®¥UU
4. Rs. 400 /400 94U

Correct Answer :-

e Rs. 500/ 500 %UU

10) In a certain code, BEAN is written as ABNE and SALE is written as LSEA. How is
NEWS written in that code? /

U (Af3d ®s A, BEAN B ABNE 3R SALE & LSEA & U A fer@r sar g1 59
P18 A NEWS B B ferar smeame?

1. SNWE
2. WNSE
3. WSEN
4. SNEW

Correct Answer :-

« WNSE

11) In a certain code, DIARY is written as @5*%4 and LOOK is written as $##3. How
is LOAD written in that code? /

S fAf3a F18 & DIARY B @5+ %4 3R LOOK & $#43 & U A ferar a1 81 59
$1s U LOAD &I foa U R forar smemme



1. $%@*
2. $#%*
3. $#*@
4. $#@%

Correct Answer :-

. $#@

12) If 2 men or, 6 women or, 4 boys can finish a work in 88 days, then how many days
will 1 man, 1 woman and 1 boy together take to finish the same work? /

gfe 2 79 41, 6 WIRATT AT, 4 TSP TP H1H B 88 fa #f @ &2 g &, af I
BT B TH B & forT 1 oW, 1 Afgan iR 1 a5 Fi fhaq fg7 R

1. 97
2. 96
3. 95
4. 94

Correct Answer :-

e 96

13) Find the average daily expenditure of a man in 2017, who spent Rs. 76310 in the
first-half year and Rs. 87940 in the last? /

2017 ¥ U AAfdd & 3id e oag &1 udar g, o= ugel SHE § 76310 30T
3R 3 THTE A 87940 3UA W fhu?

1. Rs. 453 /453 %4U
2. Rs. 452 /452%UU
3. Rs.450/450%UU

4. Rs.451/451 94U

Correct Answer :-



e Rs. 450 /450 %UU

14) Look at the five numbers given below:

851, 743, 624, 319, 298
If the positions of the first and the third digits in each of the above numbers are

interchanged, then which of the following will be the third highest number? /

851,743, 624, 319, 298
gfe SR &1 1S FErah Y uge! 3R st W o1 eu # ded fRar Swmar g, &t
P At T TR ga S=aw GBI g

1. 624
2. 298
3. 319
4, 743

Correct Answer :-

e 624

Topic:- General Science

1) Who discovered the presence of electron in an atom? /
TP WA § saagH &1 SuRRITA &1 @i e 312
1. Chadwick / ISfdd®

2. Niels Bohr / i1eg a1

3. Rutherford / ?3?55- S‘
4. J.J. Thomson / SIS, YT

Correct Answer :-

e J.J. Thomson / SIS, YT




2) Identify the plant tissue that is not a type of meristem./

39 UTeY Sd® P UgdE Hiorg St f U R &1 fausiae (afew) 981 21
1. Lateral /7% (éa?l)

2. Intercalary / gy @?ﬁﬁ)

3. Apical / Ry (Qﬁﬁ)

4, Xylem / SlIgclH

Correct Answer :-

o Xylem / GIIgTH

3) is used as a fuel in nuclear reactors. /
&1 AT A1fHe 1 Ruaed § $99 & U # frar Jrar 2|
1. Co-60
2. P-32
3. I-131
4. U-235

Correct Answer :-

o U-235

4) Which one of the following suggestions is effective in controlling air pollution? /
e gamal & | S 91 9g uguur &) il s 3 gurdt @2

1. Driving diesel vehicles / Snl\rlﬂ dle- ddlax

2. Using fossil fuel as a source of energy / 3ol & UId & =7 ﬁﬁﬂms‘www

3. Using alternate sources of energy / Fll & A fees Fidl BT IUTRT HRAT

4. Having industries far away from human dwellings / ma’ff qd 31a 9 dgd g¥
RRCEI

Correct Answer :-



« Having industries far away from human dwellings / STl &1 A SMTAT 9 dgd g¥
REEE]I

5) Which one of the following is a homogeneous mixture? /
fufefaa % & o= a1 ve e fhgor g2

1. Saline water / WRT SI¢T

2. Butter / HRIT

3. Distilled water / 3T d Sfcl

4. Blood /¥dd

Correct Answer :-

e Saline water / R ScT

6) The method used to separate petrol from crude oil is: /

T ad A U B ST B & I IuaRT o o1 areft fafr g:
1. Simple distillation / HIYRUT HAHIT

2. Fractional distillation / 3{TTRTh 3G

3. Steam distillation / HTY HTHd

4. Chromatography / IS

Correct Answer :-

« Fractional distillation / 3R 3FaT

7) The velocity of an object at any given instant of time is called

& 3 g9 & FoReT ot &7 9x U aeg FT AT FgATdT Bl

1. Instantaneous velocity / ATeeTTOT a7
2. Variable velocity / TR&T 2T

3. Average velocity / 3f&a T



4. Uniform velocity / TEHEHTT 3T

Correct Answer :-

« Instantaneous velocity / ITeeToTa T

8) What would be the momentum of the bullet and the gun before firing? /

TIAT AT & Tger TIAT ST S HT HaAT FT T2

1. The momentum of the bullet and the gun before firing would be zero / et FATH & Tgel
TIAT 31T S5 T HAT 9T Tl

2. The momentum of the bullet would be more than that of the gun / It T HaAT, S5 i
AT  srfea grm

3. The momentum of the gun would be more than that of the bullet / S/ga T FaT, TTeAT =T
TAAT | srfers g

4. Both would have certain velocity and so have the same momentum / F1 § F& a7 g
ST THICTT THT Ha T T

Correct Answer :-

o The momentum of the bullet and the gun before firing would be zero / AT FATT & TgT
TIAT 3f1¥ S5 T HaAT 9T Tl

9) The structure observed by Robert Hooke under the microscope was: /
GeHeRi & Siaid Iad g gRT Wéma oY 78 wwa= A

1. Onion peel / WIS I fescipT

2. A slice of cork / WWWW

3. A flower /U Tl
4. Aseed/waﬁﬁf

Correct Answer :-

« A slice of cork / Bid BT Th THST




10) The frequency of wave with time period 0.05 s is:/
Y i 0.05 G Aled a1 B qfa gii:

1. 20 Hz

2. 500 Hz

3. 2Hz

4. 50 Hz

Correct Answer :-

e 20 Hz

11)
How will the force between two masses m] and mz placed at a distance "d’ change, when the

masses are doubled and the distance between them is halved? /

‘A T UL T8 T FAFM m1 3R ma F = 99 F gfaofa grm, 91 39% gea9 SR #iT

1. Force becomes 16 times the initial force / &7 ST &< FT 16 AT &7 SATAT & |

2. Force will be halved / =1 34T 21 SITURM)
3. Force will be doubled / &= TRAT BT SITUATI
4. Force will not be changed / a1 afiad+ gl gl

Correct Answer :-

« Force becomes 16 times the initial force / /& ITEIH a1 &T 16 AT BT FTAT & |

12) As per Whittaker’s classification, which of the following is not a Kingdom name? /
PR & Filfevur & oguR, fufafaa & @ o9 a1 ra &1 7m0 =8 82

1. Bacteria / d&diRar

2. Fungi / d®

3. Plantae / @iict

4. Animalia / TfHferT



Correct Answer :-

« Bacteria / Sacian

13) Which of the following is not an acute disease? /
et & @ o df e iR s T8 32

1. Cancer | H¥R

. Elephantiasis | iduia

3. Diabetes / AYHE

4. Common cold and fever / Wﬂﬁ@?g@lﬁ

N

Correct Answer :-

« Common cold and fever / I Tdf 3R TR

14)
A girl is carrving a school bag of 4 kg mass on her back and climbs up a hill of height 500 m in

20 minutes. The work done against gravity is (g=10m/s%): /
Udh WSthl o 39el 416 W 4 ThEIH SedAe # Thel o9 3o 3@ ¢ 3R 20 fFee
# 500 #Hex Fars $T UgrEr W Fed ol TEcayor & [{eg fFar mr &1 &

(g=10m/s?):

1. 2X10% )
5 2X10° )
3. 2X10° )
4 2X10%)

Correct Answer :-

o 2X10%)

Topic:- General Computer



1) In MS word 2010, shortcut key to undo performance is: /
THT TS 2010 H, 3§ WRBTHT B & T Midwe o1 3:
1. Ctrl+A
2. Ctrl+Y
3. Cul+U

4. Cul+Z

Correct Answer :-

e Ctrl+Z

2) ROM stands for _ /

I @R BFIEIFT_ Rl

1. Read Only Memory / A 3t HHRY
2. Read Only Message / 35 Sif el B
3. Read Of Memory / S 3T TRy

4. Ride Only Memory /X[gS 3ffel HART

Correct Answer :-

e Read Only Memory / A 3t HHRY

3) Where does the formula bar present in the MS Word 2010?/
THTH T 2010 § BIYAT IR Hgi HiS[G gia1 82

. Inreview tab / ﬁq%_d

2. There is no formula bar in MS Word / Waéﬁ?ﬁg WW :I_sgfa?ﬂ %I
. In insert tab / ET\q?i; %_d H

. In home tab/_@ﬂ%a'ﬁ

[y

w

N

Correct Answer :-

e There is no formula bar in MS Word/@@ﬁéﬁﬁéﬁ%wqﬁmgl




4) Where does the file name appear on the MS Word window? /
THTH 7 f3€1 1R wigd &1 714 Fel fears dar &2

1. Title bar / CIgcd dIR

2. Ribbon / &

3. Status bar / T GR

4. Home bar / B1H IR

Correct Answer :-

e Title bar / CIgCd dIR

5) From the given chemical formula, H20 what does 2 appear to be in MS Word 20077 /
THTE S 2007 #, fGU a0 TErifeie T H20 & 2 &l o YR YeiRd fdhar sieam

: Belowscript/félf'ﬁﬁofl?:r

: Superscript/wq

. Bottomscript / SicHpIE
: Subscript/ﬂ_GIEngEr

[y

N

[€Y)

N

Correct Answer :-

e Subscript / JIGh @

6) Which among the following can store a large amount of data? /
fFrufeafaa A 9 o4, ST 3 93} A1 ) WR B 5T 82

1. CD /Sl

2. Hard disk / §TS &%

3. RAM /Y|
4. Floppy disk / Fairdl foxm

Correct Answer :-



o Hard disk / Eﬂé fem

7) Which among the following is NOT ‘Page Border’ Setting in MS Word 2010? /
AT g8 2010 H, FafifEd & @ o9 91 o9 aisy T g 82
1. Box / SIad

2. 3D/ 38

. Peculiar / ﬂaqi%m

4, Shadow / ‘\;l@';|

W

Correct Answer :-

« Peculiar / UFRI[CRIR

8) In MS Excel 2010, sparkline can be accessed from: /

THEY TRIE 2010 A, WThATSH &1 SUANT Ui | fHar o g 8:
1. Insert tab/gﬁé%a

2. Design tab / f&oTg ¢&

3. Formula tab / TIH &

4, Review tab/ﬁaléa

Correct Answer :-

e Insert tab / sﬂé %_d'

9) In MS Excel 2007, where can you find the charts group?/
THTH TAd 2007 H, 3T I1 YU Hi UT IPHd 82

1. Home tab/ Bﬁtr%‘q'

2. Page Layout tab / U Q33T oF

3. Insert tab /?F\‘:l_cc %TS[

4. Formulas tab / tﬁlﬁi?ﬂ <q



Correct Answer :-

e Insert tab / 37\‘:|T:F GG

10) In MS Excel 2010, the shortcut key to apply or remove bold formatting is: /
THTH TR 2010 H, 968 WA B AR H34 I1 fAdTeq & foe Aidee o1 3:
1. Ctrl+4

2. Ctrl+3

3. Ctrl+2

4, Ctrl+5

Correct Answer :-

o Ctrl+2

11) In MS Excel 2007, to remove the outlining from your worksheet, choose the
option from the submenu under the ungroup button. /

THTH TR 2007 H, 301 ahRiie § MScasf— & geM & g, sr[u aea &
dgd I9a] d fawe g1

1. Clear / FAIR

2. Clear Outline / TR 33CSH

3. Outline / 3TICATZA

4. Bottom Outline / §1cH 33T

Correct Answer :-

« Clear Outline / TR 3T3cASH

12) In MS Excel 2007, to trace errors and show the cells that are referenced in a

formula, we use buttons. /

THTY TR 2007 H, FRAY &1 qar v MR widar # i Iaf <! fewm & fa,
g4 T FIIUYNT HIA 2 |



1. trace formula / aﬁ q#‘:l?ﬂ
2. trace / aﬂ
3. formula auditing / tl'fﬁ:k“ﬂ IS

4, formula / tﬁ"%ﬂ

Correct Answer :-

o formula auditing / UO—\IJILT‘IT 3{itefe

13) In MS Word 2010, sheet has its length and breadth as 5.83 x 8.27 cm. /
THEY 98 2010 H, Tfie F) daS 3R NSTS 5.83 x 8.27 AL, AT &1

1. A6
2. AS
3. A4
4. A3

Correct Answer :-

e A5

14) In MS Excel 2007, you can design a worksheet in such a way that data is formatted
differently, based on the values the data assume at any given time. This is called as
.

THEY TR 2007 H, 3T b ghRiIe o1 59 d¥g A fSug- o god ¢ o foedt oft
THY TR HiUd ST A & SR TR ST 3eT-3eRT W ud fhar a1 gl 39

ST AT G|
1. Unconditional Formatting / 3B ST BIHfCT
2. Conditional Formatting / S BIHfCT
3. Formatting / BT
4, Data Formatting / ST BT

Correct Answer :-



« Conditional Formatting / & SRS BIAT

Topic:- Electronics Telecomm & Instrumentation Engg

1) Which of the following frequencies is widely used in emergency services? /
Frafafaa & 3 $i4 It srgfr e 0§ smurawTei darsi # uga gidt 82
1. 800 kHz

2. 800 MHz

3. 800 Hz

4. 8000 Hz

Correct Answer :-

e 800 MHz

2) LED helps in which of the following kind of indications? /
Tase! {59 yaR & Az o gera«r sear 32

1. Both visual and auditory / €Y C’rﬁT Yaul EﬁT'ﬁ

2. Auditory only / Had YT

3. None of the above /B'Clﬁ?ﬂ ﬁ‘s‘ ot 7'|_Eﬁ

4, Visual only / Had e

Correct Answer :-

e Visual only / FHad €9

3) A multiple-tone modulating signal consists of 1 kHz, 2 kHz and 3 kHz frequency
components. The bandwidth of resulting amplitude modulated signal having carrier

frequency of 1 MHzis ./

TS 9g-aX QRURad (Aisgaie™) ad § 1 e, 2 fFaeds ik 3 fFasds
& 3Mgfe g BIa € | TR Smary Aisgaes Yod ot d dieTs o 1 Rmgdw
&1 aTe IR 3, il



1. 4kHz / 4 Tpdligest
2. 12 kHz / 12 foraligest
3. 2 kHz / 2 fHamged
4. 6 kHz / 6 fdliges

Correct Answer :-

. 6 kHz/ 6 fpaigest

4) Assume we need to download text documents at the rate of 100 pages per minute. The

required bit rate of the channel is ./

AT o fo6 g8 100 I8 WTQ e &t 3T & TFee STRfHEH SISAdAle & gl q7 A9 &1
AqaeTqF foe e g

1. 163.6 Mbps

2. 1636 Mbps
3. 16.36 Mbps
4. 1.636 Mbps

Correct Answer :-

e 1.636 Mbps

5) Resolution of digital meter is given by: /

fEfea M w1 ¥vqe (RRAN __ grifRarsman 3|
1. None of the above /szl'af | ﬁé Hﬁ[

4 107

Correct Answer :-



6) PIN photodiode and avalanche photodiode are i
i srle sk Tadu Bt sEs g gl

1. optical receiver / JivHmd Reiaw

2. optical fiber / AHd PIECES

3. optical transmitter / 3P SIGHICR

4. optical regenerator / AP HA AoRex

Correct Answer :-

« optical receiver / 3w d Rfiarw

7) tests whether one value is less than or equal to second value. /
THHT ST FAT § T UF AT @ A T F7 g T T4

1. EQU

2. NEQ

3. LES

4. LEQ

Correct Answer :-

« LEQ

8) are the exchange of data between two devices via some form of

transmission medium such as a wire cable. /

T qTIC H A STATAAT ATEIT F T THILU F AEAH F ST STHL 5
1 T FT AEE-TEE FLAT

1. Distributed processing / RT¥gsgee TrafET
2. Data flow / ST Tl



3. Data communication / ST FFIHHeTT

4. Data representation / T fXusieerT

Correct Answer :-

o Data communication / SeT FFLTHHT

9) is a digital computer used for the automation of various electro-

mechanical processes in industries. /
T e Fgex & st ST 3= # Afs sower-Astaad
TThATSA & TF=TA o forg 36T STaT g

1. Programmable logic controller / STUTHE SATToT e aT<

2. ARM controller / THRTH FHaldT
3. Microcontroller / ATZHT HEAT
4. Digital controller / fRfSres #grew

Correct Answer :-

« Programmable logic controller / TTUTHE ST FaleT<

10) is the time required for the charging current of the capacitor to drop

to 0.368 of its initial maximum value. /

HFYTAET o ATNT TATE T TTLHF SATRTH AT & 0.368 TF [IL & g
AALTH T B

1. None of the above / ST | | FlE A5l

2. Slew rate / G HOIT a¥

3. Time constant / 8% fAgdi=
4. Gain/d&d

Correct Answer :-

e Time constant / 9T fFadi®




11) are used for testing the bits, or shifting them right or left. /

T SYANRT Ted FT TLET FLA, AT Irg <TC AT ATT TATATANRG HLA 6 forg Fowar
STaT 8|

1. Bitwise operators / faearss stuveyd
2. Arithmetic operators / Sfafes A
3. Conditional operators / FE AT AILEH

4. Relational operators / Rererer sttaves

Correct Answer :-

« Bitwise operators / fezaTsst sfiaiey

12) current is the minimum forward current that flows through the

thyristor to keep it in forward conduction mode at the time of triggering. /

e 98 7AW NI YATE § S S TN 9 99 SR AT Jie § T@d
¥ forg arsREe< F ATerw ¥ agAT 2

1. Forward / ®i¥as
2. Latching / &f=mT
3. Inverse / a9

4. Holding / gTfeeT

Correct Answer :-

o Latching / &f=T

13)  converts BCD value to integer. /

BCD HTH &I quiis § qfataa Hdr gl
1. DEG
2. RAD

3. FRD



4. TOD

Correct Answer :-

« FRD

14) Aspect ratio is given by the ratio of: /

SHTHERAT SFUT (SITEITE STUTE) FTPT SIUI Tl ¢
1. Width to color / Eﬁ?ﬂs‘ U

2. Width to height / TNSTs q HaTs

3. Height to width / 318 I TNSTS

4. Height to number of lines / C’1I$“|\I' P GBI \\%dl‘g

Correct Answer :-

« Width to height / TSTs T $aTS

15) ISDN stands for: /

STSTHISITA (ISDN) FT fagd Fu 8:
1. Invoice Service Digital Network / gdisyg gfdg fefSred Aeadh

O\ O\ i\

2. Integrated Section Digital Network / 3(‘1"‘3@3 I fefoed Aead
3. Integrated Service Digital Network / § RIS Ofay fefsred Aead
4. Integrated Service Discreet Network / gchics g4y fewpie Aeas

Correct Answer :-
N (of

» Integrated Service Digital Network / 3(‘1‘@%3 gfag fefored Aeash

16) If x(t) is a periodic signal with period T seconds. Then the period of x(2t) is: /
gfe T Qs aftl F Y x(t) TP 3ATad Jbd g1 @l x(2t) P afy &:

1. 4T

2. T



3. 2T

ko |

Correct Answer :-

ko |~

17) A chopper circuit is operating on TRC at a frequency of 2 kHz on a 460 V supply of
the load voltage of 350 V. The conduction period of the thyristor in each cycle is

/

TH FTIC TRAT 350 V F AIE qIees HT 460 V YT 9X 2 kHz Fit iy 7 St 1
T T TGT & TAH 0 | ATS(EST Al ATAT AAT gl

1. 380 ps
2. 300 ps
3. 308 us
4. 80 us

Correct Answer :-

e 380 ps

18) A in ladder logic is a coil that is ON for only one scan and one scan each

time it is triggered. /
dAsT Arw & UF FISA & ST PAA TF SF 3 17T AT 21T & 30 T4F I
fR 9 9 A T e AT g

1. one shot / a9 9Tie

2. D flip flop / St fo1T w1t

3. oscillator / #iffEerex

4. RS flip flop / sTUH T FATT

Correct Answer :-



e one shot / I 9TiE

19) A period of 100ms is expressed in microseconds. /
100ms FY TH rafer HATSHIHHSH | oAh 6l AT 2
1 10°

2. -

Correct Answer :-

. 10°

20) TE waves abbreviation is: /

&S T A o1 wferadierur g:

1. Transduce Electric / CTHSH Faildcd

([N

2. Transverse Electric / gin\LT saldt;\cb
3. Total Electric / SICd 3aifagd
4. Travelling Electrical / Ea'i%m sﬁﬁ!ﬁw

Correct Answer :-

e Transverse Electric / ‘graa?f 3@@;65

21) Electrically small antenna has which of the following characteristics? /

faggd +u A oy T # 399 | i W vy 8t @2
1. All of the above / IWRIad gt

2. Low directivity only / dad Y famadd

3. Low input resistance only / Had 9 2 yc iRy



4, High input reactance only / HId 3 Rl gfcare

Correct Answer :-

e All of the above / IRIad gt

22) A timer is used when you want to retain accumulated time value through

the power loss or change in the rung state. /

TH SIS AT STANT T (AT STTAT § ST ST ITaL AT AT S 1 AG€AT
H qREd & AT § §ia 989 79 ®l d97¢ &A1 9784 &

1. TON / ON delay / €319 / 3 f&al

2. None of the above / ST | & Fls A5l
3. TOFF / OFF delay / <I3{H / 311 f&al
4. Retentive / Rcfeamfarah

Correct Answer :-

e Retentive / Iiéiéaw&ﬁ

23) A in the execution unit translates the instructions fetched from the

memory into a series of actions which the execution unit performs. /

TFFIAT e § TH AT & I8 e &t U sa@«r § FAeares Faern
T SIATE FLAT &, e TFATgS IAe Frai~ad sdt gl
1. ALU/Tuag

2. Register organization / TSTEe¥ ARTATE ST

3. Decoder / fR&T=Y
4. Control circuitry / FUZIer Tlhel

Correct Answer :-

e Decoder / fRFI=T

24)



A provides long-distance transmission of data, image, audio, and video
information over large geographic areas that may comprise a country, a continent or

even the whole world. /

TH a2 WRTToreh &1 & W) q% 2aT, gia, ARy i fifedr sty
ATT-RET e YaT w3ar g, ’rad v 3o, gy a1 gt 7% % o g
qrAfrd gr gt gl

1. Local Area Network / STeel THAT qa

2. Internet / 32TAE
3. Metropolitan Area Network / HETaT{eled URAT H2a+®

4. Wide Area Network / aT3€ TRIT 2a+

Correct Answer :-

e Wide Area Network / 9T Q‘FCZIT EECED

25) A is a word consisting of sequence of one or more letters or digit along

with a special character “_”./

_ THUET e § S OF 9w Gt " % qrer Ok a1 Afereh srerd 7T St b
s fAfgd S 21

1. keyword / Fas

2. identifier / SMESTTRMAT
3. character / i¥&eT

4. C token / dY T

Correct Answer :-

o identifier / TS EHTAT

26) A oscillator is an oscillator circuit in which the frequency of
oscillations can be controlled by an externally applied voltage. /
T A e T A e TRTT grav g orad #a9 $i g fr S €9 9

AN diees g1 Mt o ST a=ar gl



1. Crystal / foreeet
2. Voltage controlled / ateest A=t

3. Hartley / gTeet
4. RC phase shift / THT %t foree

Correct Answer :-

« Voltage controlled / ateest At

27) A is a simple searching technique which can be applied if the items to be

compared are either in ascending order or descending order. /
T THTI @IS T g [or8 AR] AT ST G0l &, TT< AT e ATt aeqQ
RINIE R LRI C LR
1. linear search / Sf{9=< o=
2. searching / FTHT
3. binary search / aTEAL 99
4. sorting / |

Correct Answer :-

o binary search / ITEA<T 79

28) A is a pictorial representation of an algorithm. /
Th T AANRET T R e )

1. flowchart / FA=TE

2. operation / STALLTT

3. counters / FT3EH
4. algorithm / AR

Correct Answer :-

o flowchart / FITHTE



29) A is a set of devices (often referred to as nodes) connected by communication

links. /

TF A 7 & 2 STH FT TF 4 giar g (S8 I3 T« Fgr mar @)
1. physical structure / e HT=AT

2. network / Eds

3. data flow / ¥eT FAT

4. mesh / 9T (STT<T)

Correct Answer :-

e network / JEa®

30) “Transistor is in quiescent state” means that: /
giforeex fAfera srawur & 3~ srufq:
1. Transistor is unbiased / ETW KIERI DB %

2. No signal is applied to the input / RTYC U Of;lg Tod ﬂI‘J\:l_SQf%qTTqu%

3. Emitter junction bias is just equal to collector junction bias / I Siae SN
TTeD Sia A & SRR &
4. No currents are flowing / Ob\li‘; faqu RT &Idl%d H‘sﬁﬁ?@’[%

Correct Answer :-

 No signal is applied to the input / TYC UX OD\ISr G ﬂI‘J\:I@Tﬁ?CITTI'CIT%

31) In 5GP1, what information P1 gives? /
5SidT #, P1 T ISR ¢ §2

1. Blue Green medium / =T Xl HYH

2. Blue very short / BINIRR| oy

3. Green medium / BX[ HH



4. Blue short / Hcil g

Correct Answer :-

e Green medium / g HEH

32) Assigning the required information to a variable before processing is called
.

THEHLUT  Tgel U AT FHl ATLIF TR (AKE FLAT FEATAT 8
1. assigning / AT

2. declaration / FRFeT<erT

3. initialization / STATTATZ ST

oo

4. reinitialization / F=fATaTS S99

Correct Answer :-

e initialization / ST

33) In FDMA, the user will be allocated with a spectrum. The user will uplink the data
with .

THSITAT H, STURTHdl &t TP WaeH 3frdfed fhar \rew | SuanTddl el ot
% 1Y Ui S|

1. different time slot / 3CH-3{ET JHY WKilC
2. different frequency / faftra &HQﬁ'f

3. different code / fafi=I ®I8

4. different modulator / fafa qVT?.-i{\a“\’

Correct Answer :-

« different frequency / faftra &nqﬁ-r

34) When the instruction is executed, then it will calculate X to the

power of Y and stores the result in the destination. /



SERREL ATl e StTar &, 9 @ Y & arfxe & forg X &t oA
LT T TIOTT HT 70T | GAGT BT

1. SCL-Scale data / SCL-TheT 2T

2. XYP- X to the power of Y / XYP- X Z T qTaT AH Y
3. SWP-swap / SWP-¥99
4. SCP-Scale with parameters / SCP-TFef farg Terfies

Correct Answer :-

¢ XYP- X to the power of Y / XYP- X Z T ITaT A(H Y

35) Quantization noise power of PCM system is: /

iefred yorred @Y yarEie<r v TR g

A
1. 12

o | B

Correct Answer :-

[ ]
xled

36) If a periodic signal is decomposed into five sine waves with frequencies 100, 300,
500, 700 and 900 Hz, then the bandwidth is ./

Tf w st Ahd qi= qraa a4 § srgRET 100, 300, 500, 700 < 900 Hz ¥ g7
farerfa Ereft &, 7 defagy IR

1. 200 Hz




2. 800 Hz

3. 600 Hz

4. 400 Hz

Correct Answer :-

» 800 Hz

37) MPEG 4 can have a file extension of: /
THdESH 4 § U BISd TRICYH B 9Pl &
1. .m4aonly/ $Hdd .mda

2. .m4v only/ &Hdd .mdv

3. All of the above / SURTeR] FHT

4, .mp4 only / PHad .mp4

Correct Answer :-

« All of the above / SURIad IHt

38) What does LVDT stands for? /

Tad IS &1 a1 araud 82

1. Linear Variable Different Transistor / TR éﬁqa?f fsthe ?.:Iﬁlw

2. Linear Variable Differential Transistor / TR aﬁ'@ﬁ fShiRIa @W

3. Linear Variable Differential Transformer / TR aﬁ'@ﬁ’[ TSR Wﬁﬁ?
4. Line Varying Differential Transformer / ¢llg R fehRaa m

Correct Answer :-

e Linear Variable Differential Transformer / IR éﬁqa’a fshiRra E’Iﬂﬁﬁ?

39) What is dark current in photo transistor? /

THTRI gIfoRe # e faggd uRT a1 &2



1. Leakage current from collector to emitter when light is incident. / STd YhIR] 3fafad EﬁT‘lT

2 N T A IS b Rera faggaurT

2. Leakage current from collector to emitter when no light is incident. / SId ﬁ's‘ UDIRI

3T a1 BidT 8 ol TR ¥ Iqoies dab g faggd UmT

3. Leakage current from base to emitter when light is incident. / SId YhTR[ 3fad Eﬁ?ﬂ % a

YR Y oD ddb NTd [AggauRT
4. None of the above / ﬁﬁﬁaﬁéqﬁ

Correct Answer :-

 Leakage current from collector to emitter when no light is incident. / SId ﬁs‘ UDIR

3T e 81T & o T | S dep Rara fagyd Rt

40) What is the value after evaluating the expression 2*((a%5) *(4+(b-3)/(c+2))),
assuming a=8, b=15 and c=4? /

TfX a=8, b=15 3MIX c=4 & T FTF 2*((a%5) *(d+(b-3)/(c+2))) ¥ TFATHA ¥ qTE THHT A
FT GINIT?

1. 36
2. 24
3. 18
4. 63

Correct Answer :-

* 36

41) What is the radiation pattern of omnidirectional antenna? /
gdfemare TdHT o1 fafesor ufeesu war 82
1. Radiation pattern only in x axis / Pad x & H fafevor ufaey

2. Broadside pattern / QTSHI‘&S gfaeq

3. End fire pattern / T8 BIRR IR
4, Uniform radiation pattern in one plane / Ydb dcl H UhJHH fafezor ufaey



Correct Answer :-

 Uniform radiation pattern in one plane / Uch dcl H ThIHAH fafe<or ufaey

42) What is the need of modulation? /

ATgE B TaRgHdl 1 382

1. All of the above / IRIad g4

2. To reduce the effect of noise only / HId G B YT Bl HH B P ﬁ'ﬂ!
3. To reduce antenna size only / Had Q?ﬂ_"ﬂ & HTHR DI HH B b %I’Q

4. For multiplexing only / Had ®I§{-iabd"| & fog

Correct Answer :-

o All of the above / IR G4

43) What is the function of gate signal in 8253 timer? /

8253 YHY® (CTSHR) H e R ([dde) &1 1l 1 82

1. Performing Read/Write / UG-/eRa B1 U@ﬁ

2. Operating the Counters / T B aRaferd &

3. Enabling or triggering the count / TOI-[ D1 e a1 E\Tlﬁ'r[ HRHAT
4. Selecting the Modes / YUITCA! BT TG HAT

Correct Answer :-

 Enabling or triggering the count / TTOTHT D1 Q&M AT Ial TR HAT

44) What is the range of modulation index? /

4

AIga PP HT URTH HT 8?2

1. 0<modulation index<100 / 0<HIGeIH b ih<100

2. 0<modulation index<10 / 0<HIG T YAPHIdH<10

3. O<modulation index<1 / 0<HIga Yabidh<1



4 O<modulation index<10? / D:::I-ITE‘.H o hldh<10?

Correct Answer :-

e O<modulation index<1 / 0<HT§ ol Jdb fh<1

45) For higher powers and 3 phase induction motor drives, inverters are used. /

IF UTAL 3T 3 el SSH9A HIe §T54 * [o1U, TSl T STTNT FhaT ST
2l

1. 1 phase/ 1 %l
2. none of these / TTH § &g AT AGT

3. 3 phase /3 %9T

4. 2 phase / 2 9T

Correct Answer :-

e 3 phase /3 %

46) For the measurement of low resistance, which of the following methods will give the

highest accuracy? /

o uferier & ara= & fore, @1 <t faftr Swaw aiysar uem s
1. Ammeter voltmeter method / 3T diecHeR fafy

2. Kelvin’s double bridge / e &l @"IUT @ﬂ

3. Potentiometer method / fayaardt fafe

4. Shunt ohm meter / T G‘n@ Hiex

Correct Answer :-

e Potentiometer method / faygadt fafy

47) Circuit which can be used to shift or fix the DC level of the input voltage at a

specific level is ./



98 TRy o foredt fafRIe ¥R wR 39Ye dies & SRt wR &1 ®Hiafd a1 fRR

31 & fore U fparsiaewars, Bl
. Rectifier / w

. Clipper circuit / R uRkgy

. Clamper circuit / FR GOy

. Voltage doubler / el SIAR

—

N

w

N

Correct Answer :-

e Clamper circuit / FAR gRYY

48) Circuit which is used to suppress the voltage spikes caused by
the circuit's inductance when a switch, electrical or mechanical, opens is ./

o9 U9 fagya a1 gifie® f&a o= giar 8 & ufvuy ot ufdemen gR Saa dieew
WP & AaRY & forg ufuy ST IUTNT fHar SIrar 21

1. Chopper / PR

2. SCR / THHIRR
3. Inverter / W

4. Snubber circuit / H&X TRaYy

Correct Answer :-

e Snubber circuit / &R Ry

49) Distribution of current on half wave dipole is

el ¥ fgya wR fagga urT &1 faaror _

1. constant / TR
2. triangular / B0
3. square / THR

4. sinusoidal / Wﬂ?—.ﬂ

Correct Answer :-

g



e sinusoidal / WEGT‘T

50) Which of the following possesses more stability? /
frafafea o @ fead u™ oifte fRRar 32

1. Type 0 system / UPIR 0 PUIK]]

2. Type 1 system / UhIR 1 PUIK]]

3. Type 2 system / YR 2 oIt

4. All of the above / IRIad g4

Correct Answer :-

e Type 0 system / UPRR 0 PYI|

51) Microcontroller as an 8-bit register called holds a source operand and
receives the result of the arithmetic instructions (addition, subtraction, multiplication

and division). /

ATEF A ol UF §-Ae R F =T d Feam amar 8, ST UF 919 e &1 81
FLAT g ST SR LM (ST, ST, IUIT S FAATS) T TIOH I v 5l

1. accumulator / TEFIHAEX
2. program counter / TRITH 32T
3. date pointer / 3 TT5eX

4. flag register / FIiT ToTFay

Correct Answer :-

o accumulator / TFIHAX

52) Relationship between mobility and electric field of MOSFET is: /

THTHUEES (MOSFET) B Tferefierar 3R figgd &= & e way 2

(ZE(VG - Vr})
l'u_ — _—
1 1+ Ho



N ero=z))
) _ (E(TG+;I:T})
M (1 + 231;,; = Vr})

Correct Answer :-

=),

53) The communication from earth station to satellite is termed as: /
g} WRE A ITUT dF g1 a1 AR H1 HeT ol o

1. Mid link / {8 foiep

2. Up link / 34 foidd

3. None of the above /E:I'Ef ) ﬁ‘s‘ :I_Ggf

4. Down link / ST3fcih

Correct Answer :-

« Up link / 30 feids

54) The instructions given to the computer in terms of 0’s and 1’s is called
/

0°s 3T 1’s % §aW H shege< &f fa 1y fadert r gl 1T gl
1. Hardware description language / gTeaa¥ f2fEmuer ofvast

2. None of the above / ST | & Fls Ag!

3. Machine language / ®efi= @vast
4. Assembly language / STHEAT AversT

Correct Answer :-



« Machine language / HefiT S{versr

55) The active matrix LCD is known as a ./
gfpg il Taididite . dEudAEMISEIgl
1. thick film triode / AC! fheH aTer <AITS

2. thick film transistor / AT fthed aTell ETW

3. thin film transistor / Uccil {heH aTell giRﬂ‘&CQ

4. thin film triode / Tdl! flh e dTel TS

Correct Answer :-

e thin film transistor / Gccil {hed aTall giRﬂ%C{

56) The feature of fetching the next instruction while the current instruction is

executing is called .

Faa e ol w3 a0 serar e am #i giear EISIG
{

1. pipelining / ITEIATS AT

2. execution unit / TFIFILT IfHe

3. queue / FJ

4. bus interface unit / T FeTHT e

Correct Answer :-

o pipelining / ATEIATZ AT

57) The light gathering capacity of a fiber is called ./
TP g B UBTR THAT &Il B PEIAET 8|

1. None of the above / dLR\IdrI oy Ob\l‘.ir:@[

2. Acceptance angle / W EAW|




3. Critical angle / Pildd DIl
4, Numerical aperture / J-ATHD fdaR

Correct Answer :-

« Numerical aperture / GTHD fax

58) The main purpose of using fuse in the circuit is to: /

TRUY § WS T START H3A BT 4B I£]4 3:

1. Open the circuit / uRuy &Y @aT

2. Increase the flow of current/ﬁﬂfﬁ?[ YRT & Yarg o qf& CRG|

3. Prevent the flow of excessive current / NIRE ﬁ?ﬁﬁ YRT b Udle CARIGE]

4. Save battery / Erikcal ﬁTf\&‘R‘f HIAT

Correct Answer :-

« Prevent the flow of excessive current / 3 ﬁ?ﬂﬁ YRT o YdTg & AT

59) The relation between distance travelled by the spot in CRO screen and applied
voltage in the plate is ./

CROTCANA g gRITI I TS gt IR We A ugad dieear g §1
1. inversely related / Ufdell® &0 I Faferd

2. directly related / T8 &U I aifdd

3. all of the above / SURTeT THt

4. not related / THfRId g1

Correct Answer :-

o directly related / YH&E =Y T Heferd

60) The monochrome CRT’s electron gun emits electron beam whose intensity is

controlled by: /



AP HIRE B Feag T gaag = dIF Ifoid Bl o, forae! diaar sasd
er1 frifa gt 8

1. Ultov/3edld
2. None of the above / SURIF ﬁ's‘ b} :I_sof

3. Heater/ élai
4. Video signal / difsal Rea

Correct Answer :-

 Video signal / difsar Reaa

61) The length of a half-wave dipole used at a frequency of 300 MHz is ./

;gsﬁﬁ;méﬁaﬂanqﬁrwmﬂmaﬁmﬁaﬁ-w%gﬁ%m Hiex
|

1. 10m/ 10 |t
2. 1m/ 18
3. 0.5m/0.5H

4, 3m/3Hl

Correct Answer :-

. 0.5m/0.5Hl

62) The non-inverting amplifier always amplifies voltage at its terminal. /
AIT-STATET TFIA TR FTeeST T FHLAT T i aX FETaT B

1. sequence / HT&¥

2. inverting / TaTEN

none of the above / ST H | Fls lﬁ?@

4. non-inverting / TTH-Zwafa

w

Correct Answer :-



e non-inverting / AA-Zea (]

63) The operating speed of the devices used in the chopper depends upon and
times. /

T | ST 36T ST a1 ST ¥ i i 3T &

AT 9T AT T 8)

1.

tumon,tumoff/ﬁﬁh,ﬁm

2. none of these / TAH H FIS H@

3. step up , step down / ¥ T, T T3

4. low , high /=T, BT

Correct Answer :-

e turn on , turn off / Z 3T, T AF

64) The time required for fetching, decoding and execution for an instruction is

called .
e Y g, SR o7 fsoreT B F Rro srasas qawm gl 1T &

1. T-cycle / &-ATSHer
2. Instruction cycle / SEEFT AT ohe
3. Machine cycle / Tefte AT et

4. Clock cycle / F1 AT oher

Correct Answer :-

o Instruction cycle / SEEFIT AT e

65) The number of different symbols produced by a differential binary phase shift

keying modulator is ./

Wﬁ%ﬁmﬂmvﬁaﬂqﬁmmmmﬁfmﬁﬂﬁm
L |



Correct Answer :-

e 2

66) The circuit is the one which is designed to keep the output voltage of a
power supply nearly constant, under varying input voltage conditions and varying load

condition. /

, a8 uteay g R i save Ticest Rufaat siv sremr-sremr e iy
ReafI=t ¥ AT T Ro< TTaT AT F ST FIeas T a97T T@A & forg e
T T B

1. differential amplifier / TR TFIHTAT
2. voltage follower / FTTEST HIATIHT

3. voltage regulator / Eﬁ@ﬁ%‘lﬁi"{

4. operational amplifier / AT TATHIIL

Correct Answer :-

* voltage regulator / Eﬁ@x‘v{i’ﬁﬁ'&?

67) The ADC 0803/0804/0805 requires a clock source ranging from o

TS 0803/0804/0805 F¥ q T F FAEH GIY T SMFLARAT gral gl

1. 100 kHz to 1460 kHz / 100 kHz & 1460 kHz
2. 100 Hz to 1460 Hz / 100 Hz ¥ 1460 Hz
3. 10 kHz to 146 kHz / 10 kHz ¥ 146 kHz

4, 1kHzto 14 kHz /1 kHz ¥ 14 kHz

Correct Answer :-



« 100 kHz to 1460 kHz / 100 kHz & 1460 kHz

68) The physical elements used in telemetry are termed as: /

¢S A Iuah frw oM arat 4ifae acdl @) 39 W | ST ST 8:
1. Telephones / B

2. Telegrams / P

3. Telemeters / CAHIEX

4, None of the above / mﬁlﬁ Tﬁ_&‘s ot :lﬁ

Correct Answer :-

e Telemeters / éa e

69) The term TRF in AM receiver points: /

veH ffiaR wrEe o ug Hemrue &1 guf & u A= giar g:
1. Triple Radio Frequency / E’WW higag!

2. None of the above / SURIGd ﬁs‘ ot '_'|_Evpf

3. Tuned Radio Frequency / @Em PHESES)

4. Tuner Radar Frequency / &R YSR PAGSE|

Correct Answer :-

e Tuned Radio Frequency / _Cq"_ém lgad

70) The common mode voltage gain is ; hence, the ideal value of CMRR is

infinite. /

FIAT WIS qreeT a8 &; o, FroasTe F1 ATER A afifia &)

1. one /U&h
2. zero /A

3. two /3T



4. three /S

Correct Answer :-

o zero / A

71) The IC provides the three basic input modes, namely: scanned keyboard,

scanned sensor matrix and strobed input. /

IC i AT 3AYe AT Yo7 FLAT &, S+ 917 §: e fi9ie, ohe d6%
AfeFa o wiee A2

1. 8259
2. 8257
3. 8255
4. 8279

Correct Answer :-

e 8279

72) The is the harmonic component which has nearest
frequency to the fundamental and its amplitude is within 3% of the fundamental

component. /

Y g e g Sras At & Maeaw srgfxy gidt § 8
THERT T [&LS/SATH HITeldh Teah & 3%  HIa< grav gl

1. distortion factor / TREEITe e

2. highest order harmonic / ETSUFe ST EHIAF
3. total harmonic distortion / ZTaeT ZTHTH FEaiTerd

4. lowest order harmonic / FTTEE ST GIAIAH

Correct Answer :-

« lowest order harmonic / ATUEE ST FHHIAH




73) The flag is set if there is an overflow out of bit 3 i.e., carry from lower
nibble to higher nibble (D3 bit to D4 bit). /

AT A T wmaT & AR foe 3 & ofys e aar d, S AR few a
T Faa T of ST1(ET3 foe & <1 4 foe a@)

1. auxiliary / sifaTersrdr
2. parity flag / TTET FT
3. overflow / AETFAT

4. zero /LA

Correct Answer :-

o auxiliary / SiTFSTTeTTLT

74) The statement provides a way to select an alternative out of several

alternatives based on the choice. /

TITHT UGE F AYT U Fs [AFhedl # ¥ U fseq &1 99 7 FT TH aO6T
Y& HAT gl

1. ‘elseif’
2. ‘nested if’
3. “f
4, ‘switch’
Correct Answer :-
e ‘switch’
75) The is most widely used method for voltage control in inverters;

the width of each pulse is weighted by the amplitude of sine wave at that instant. /

, TAEE A qrees AE=or & forw qa9 =319 ©9 9 T f J1 vt Aty
&, U ToF ] ATSTS S AT & I3 99 & THTo [&[S/3ATH & HTRA Il g

N
|

1. multiple pulse width modulation / FeE et 9ed fage AIgAT

2. single pulse width modulation / fRTeT 9e& fager Aige



3. modified sinusoidal pulse width modulation / FiTeHTze fAqaTzsw 9od Agy Al

4. sinusoidal pulse width modulation / A= e Te& fager Aigere

Correct Answer :-

« sinusoidal pulse width modulation / fraTE = To& AT Higere

76) The is defined as the maximum rate of change of output voltage with time.
/

T T & T AT areest # qiaa St srfamad 2 & & # gt fear
STaT Bl
1. power / qTaX

2. slew rate /  IOIF &¥
3. current rate / 9= 3

4. gain/ 92d

Correct Answer :-

o slew rate / T IUIF &¥

77) The is responsible for the source-to-destination delivery of packet,

possibly across multiple networks (links). /
e ¥ TT-9-Iqe Fawor ¥ Forg Saert gid! &, ewaa: 75 feawt
() #1
1. Network layer / ¥@ae I
2. Transport layer / SIS AT

3. Session layer / {9 SAT
4. Data link layer / 22T foi &=

Correct Answer :-

o Network layer / Fea# I¥




78) The device which can be used to isolate the control circuit from the load is ./

;ﬂﬁﬁﬁawuﬁquaﬁqwmﬁ%m_mmm%mmm
|

1. DPDT switch / SiUteIcl {ad

. Toggle switch / e Reg

. Circuit breaker / uRuy fageis
. Relay / e

N

w

N

Correct Answer :-

e Relay / o

79) The basic logic functions using ladder logic for AND logic is: /

AND SIS & orw A=< AT T STTNT FXA qTA ST AL HFAT 8-

A
L
out
+
B
4
1 f/
A B
I I out
2
) B
P
out
; /I/ /I/ u

out




Correct Answer :-

80) The picture tube of color television has how many electron guns? /
T eefifae & fieR oga # fPaq saae A T 8l 82

1. 2

2.3

3.0

4. 1

Correct Answer :-

3

81) The _ can be turned ON using light signal. /

ATee U FTSTIRTHFTH _ FT =1 (ON) TR s gt g1
1. MCT

2. GTO

3. TRIAC

4. LASCR

Correct Answer :-

« LASCR

82) In the given program, what is the value of z? /
& TR TARIT & 2 F7 71T FATE?

intx=7;
inty=2;



int z;
z=x/y;

1. 4
2.3

3. 35

Correct Answer :-

3

83) An operator which acts on only one operand to produce the result is called
.

T ATILEL ST IO IqST FHLA 6 (oI Fael Teh AALE I FHTH HLam g, S

gl STaT gl

1. unary operator / {H’ﬁ AT

2. ternary operator / T SIS
3. special operator / T ATTLEL
4. binary operator / aTEALT AT

Correct Answer :-

o unary operator / TALT AT

84) Which of the following is NOT the variable type in C? /
frufefaa % 4 o9 ¢ § R &1 IeR 78 82

1. int

2. real

3. char

4. float

Correct Answer :-



e real

85) The Silicon Controlled Rectifier (SCR) has three terminals, i.e., R
and .

Rrferrt R W (qadtem) & A «fifae gid &, st i e & ,
T |

1. source, gate, drain / {TH, T, 37
2. anode, cathode, gate / Q_rﬁ_s’, fﬁ?ﬁ?!, T

3. None of the above / IULIE H & Fils A5l
4. emitter, collector, base / TTHaY, Feraa<, a9

Correct Answer :-

« anode, cathode, gate / TqIE, FAE, T

86) divides the population on the basis of their behavior, usage and decision

marketing pattern. /

SIS B 390 AGER, IuUNT Y fAvfg & fauue ded &
SMYR R fayTiora srar 2|

1. Demographic segmentation / EERIEEALACE SE]
2. Behavioral segmentation / IIgIRD faHTSH
3. Psychographic segmentation / Wﬁw
4. Geographic segmentation / Hrnfere v

Correct Answer :-

» Behavioral segmentation / IIgIRD faHTSH

87) is about identifying and meeting human and social needs. /

AT 3R IS SReTdl B Ugar- 3R 38 RT H31 § afta g1
1. Marketing/ﬁ'qm:f



2. Purchasing / $pY
3. Renting / fTT TR ST
4. Selling / ST

Correct Answer :-

« Marketing / faUU

88) type is used to describe the user defined operations in VHDL. /

dNeadiva & SuaRTeat ufyviita dfesars &1 aufa w9 & forg

SUERT far ST 81

1. Enumerated / STIOId

2. Char and void / R 3R 158

3. Float and double / TAIC 3R S&d
4. Float and void / UdIE 3R dlgs

Correct Answer :-

e Enumerated / AT

YD BdI

89) Maxwell’s bridge measures unknown inductance in terms of: /
Aoqad A 3T URHod BT AU 37 UG W HdT 3:

1. Known voltage source / IId dlecsl Jid

2. Known resistance / J1d ufeRly
3. Known capacitance / Jld TR
4, Known inductance / WW

Correct Answer :-

e Known capacitance / JTd TR

90)



The consumer purchases vary on a seasonal, monthly, weekly, daily, or even hourly

basis is ./

SUHITT P 98 WIIER! S HI9H, A1, Tded, ¢fHe, a1 agi d & ufd ger
AMYR R AT S : |

1. irregular demand / S |
2. negative demand / FUITHD HIT
3. full demand / QU AT

4. latent demand / & HITT

Correct Answer :-

e irregular demand / S |

91) The generate statement in VHDL is used to replicate one or more concurrent

statements and has two forms, namely: /

deadivd # IUT FY BT TN TH T HfUP THad! U I glgvH & forg
fPaT ST g SR sUH Gl FUgld & Py am &

1. ‘If” and ‘wait’ / Yh 3R de

. ‘For’ and ‘if’ /WVIT @TW

. ‘If” and ‘exit’ / TP @TE%FC’

4. ‘Wait’ and ‘return’ /é?:’ @Tﬁ?_*f

N

w

Correct Answer :-

e ‘For’ and ‘if’ /WT? GﬁTW

92)



The dc operating point values (VCEQ) and the output voltage (VO) for the given circuit is:
(assuming VBE=0.7V)/

T 2T T 99T % Y de sTaLfeT 9ige 9e4 (VCEQ) &< 93t afecr (VO) EIE8
2R (VBE = 0.7V 919 )
+12V

33K

— -12V -

1. Veeq=4.6536V Vo=3.9536V
>, VeeQ=29536V . Vo=3.6536V
3. VeEQ=1.9336V , Vo=26336V
4 VcEQ=4.9336V , Vo=5.6536V
Correct Answer :-

Veeq=4.9536V _Vo=5.6536V

93)
Directivitv of antenna is given by: [8 — power densitvin the direction of pattem maximum, 8j—

power densitv at same distance from the antenna] /

T Fr Efdear garT & Sl 81 (s-3ifasan ufaws i fgar & ufFa
Helcd, §; - Vel & FAW gl 9 fdd Helcd)



Correct Answer :-

oh

94) (alculate the bandwidth of the signal cos 4mw10? t. /
Tohd cos4ml10® tFr & ?ﬁﬁ% thT ITOTAT |

1. 2 kHz /2 frdigcal

2. None of the above /Eqﬁﬁ Tﬁ_sc '_‘|€f

3. 1kHz /1 fbaigea

4, 4kHz / 4%@1{3

Correct Answer :-

. 4kHz / 4 fohalges

95)
In the given table, terminal voltage and corresponding current is given. Determine the current

flowing through 16 ohm resistor? /

A4 & a5 arfder # cfiaw diecar R geT faggauwT Bw aw §1 16 3H
ufoRTe & ATTH ¥ vared glet arell faegd, oRT & fedRor &7

Terminal Voltage / G 20V AY
dieedr
Terminal Current /& 0A 5A

faegasmT

1. 5A

2. 1033 A

3. 1A



4. Data is insufficient / ST U %

Correct Answer :-

e 1A

96) The normalized power pattemn p(e.$) in terms of field pattern magnitude is: /

&R afaed aRAmT & uel & aEeied afFd s pled) B
P(e.d)=F(e.9)f

, Ple.d)=[F(e.)'"

, Ped)=gle.d)

, Ped=Fed

Correct Answer :-

. Ped)=[Fed)P

91:31 ammeter has a current range of (0-3) A and its intemal resistance is 0.3 2. In order to change
the range to ((-12) A, we need to add a resistance of with the meter. / Udh HHIEL &l
faegd 9RT 9IR (0-5) TAdRR 3R s&eT a9 03 Q §1 WE #1 (0-15)
R 95 TRafid & ¥ foT A & anr gfaRer siser 1
HGLTHAT bl

1. 0.10 Q in parallel / AR %A H 0.10 Q
5. 0.15 Q in parallel / FARIR HH & 0.150
3. 0.90 Q in series / AvfIRA & 0.90Q

4. 0.60 Qin series / AUfRA # 0.60 O

Correct Answer :-

o 0.15 Qin parallel / AR FH H 0150



Kis+1)
(s+2)(s+3)

_KGH) i ga fawgat 3R ot &1 wear FwAw: |

(s+2)(5+3)

is: /

98 . .
) The respective number of poles and zeros in

1. 1,2
2. 3,1
3. 2,2

4. 2,1

Correct Answer :-

e 2,1

99) The value of 3° in hexadecimal number system is 2

59T TREeasTaHe TEar yomeT i 3° &1 A 2l

1. 3F
2. F3
3. E3
4, 153

Correct Answer :-

e I3

100) What is the result, after executing the following instructions? /
Frafafea Frd=n o fFrofea $33 & a1 uRom a1 g2

MOV A #47H

MOV B #25H

ADD A,B

DA A

1. 6CH



2. 5SFH

3. 72H

4. 70H

Correct Answer :-

« 72H




